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GENERAL INSTRUCTION TO THE EXAMINEES :

1. qvereff Fdmem S U U WR AT Jrfarda: ford |
Candidate must write first his/her Roll No- on the question paper compulsorily-
2. T T B Mfar 2|

All the questions are compulsory-

3. U U Pl IR &l Ty IR GRADT A 8 ford |

Write the answer to each question in the given answer book only-

4. 9 oAt 7 oaR® Wus § S 9l & SR Udh A1 &1 fordd |

For questions having more than one part, the answers to those parts are to be written together in
continuity.

5. U9 &1 IR o | gd U &1 HHidh faeg ford |

Write down the serial number of the question before- attempting it-

6. U U & fEwal @ IUSH ®URY H fHAT JBR &I Ffe /3R / faREm™™ 8 W
Rl W9 & U= @l 1 e A |

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the
question of Hindi version should be treated valid-

7. U9 B 16 W 20 § <R Aheq 2 |

There are internal choices in Question No. 16 to 20 .
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SECTION- A

1. SgfAdedl U9 (| xvi): 97 ST & SR BT Fel [ddbed o $HR IR GRAdT H

ferfag |
Choose the correct answer from multiple choice question- (i to xvi) and write in given answers book .
() RETHN & qrext FART fd drefe uerel o 9+ 8l &— Y
(s7) afaes (@) eI
(@) farf T () geiret
The outer wall of pollen grains is made up of which organic material ?
(A) Pectin (B) Sporopollenin
(C) Lignin (D) Cellulose
(ii) SIEBTURIT BT UIYOT S BT B BT o— %
(31) Tl PIfram (@) TR S BIfR®
() T BIfranT (&) sp arfEent
Works to nourish sperms -
(A) Sertoli cell (B) Male germ cell
(C) Ley dig cell (D) Vas deferens
(iii) afTwfer M ofct: TwHierdT Jfeh bl 5— %
(31) Tt uA Si—20 (@) BruR—<1
(%) HroRerae () forar o
Which is the medicine-free contraceptive method -
(A) LNG-20 (B) Copper-t
(C) Progestasert (D) Lippes loop
(iv) FreforRad 5 & ST foliT— Fger = T & — Y
(e1) BUeTgfew (@) Tea



Which of the following is a sex-linked disease ?

(A) Hepatitis (B) Aids
(C) Hemophilia (D) Cholera
(V) DNA D ST Yogjd UReR foad 99 gIRT 9 8l o— .
(31) BEeo 99 (@) BIRBIEZURER 99
(%) Tergs 94 () Temgar Rifks gy
Both Strands of DNA are connected to each other by the following bond -
(A) Hydrogen bond (B) Phosphodiaster bond
(C) Peptide bond (D) Glycosidic bond
(vi) THSITIAT &I el IQTERTT o— Y

(31) #ra, 9], ® @ UG (d) THIDHAl Ud 3]
() ueh), TS @ U9 (3) Sfaifthd @ & fUrerad
Which of the following is the correct example of homology -

(A) fore limbs of Human, Tiger and whale (B) Sweet Potato and Potato

(C) Wings of birds and bats (D) Flippers of Dolphin and whale.

(vii) Fr=IferRad & & HehrHd T BT FE THE o 7
(31) ~gHIFRI, CIRWISS, DR (@) =garfran, ufzren, vsd
(d) Usd, $ar, uferer (@) weifRa, feew, wferemer

Which of the following is the correct group of infectious diseases -
(A) Pneumonia, Typhoid, Cancer, (B) Pneumonia, Dysentery, Aids

(C) Aids, Cancer, Dysentery (D) Malaria, Tetanus, Arthritis
(viii) FrfeiRad # & BoD &1 ORT A9 & — Ya
(1) saTAiSTRe SMRiToA fShRIT=T  (d) d™mHee IAfRiTS fShRg=

(@) IS ATRiToA fSHS CERISINEINESIEINERRGIES

Full form of BOD is -
(A) Biological oxygen Deficiency - demand (B) Bio chemical oxygen Deficiency - demand

(C) Biochemical oxygen Demand - demand (D) Biological oxygen demand



(ix) fordlt @mer siger ¥ waifte, der feaa gl 8 ? Y

(31) ScuTE® (@) e STHRHT
(%) fe<irres SuwRHT () suEed
Who has the highest number in a food chain ?
(A) Producer (B) Primary consumer
(C) Secondary consumer (D) Decomposer
(x) FefeRad 5 | anfdae o fhd Ped 8- vz,
(31) DNA TSI (@) T guel Gfdelyo]
(d) DNA UfelFRet (€) CraRISHATHR
Which of the following is called molecular scissor -
(A) DNA Ligase (B) Restriction endo nuclease
(C) DNA polymerase (D) Topoisomerase
(xi) fr=feRaa # < foa® & 11 wnfoas wr fhar STrar 2| Y
(@1) TIdfdeRem e () vuHfdeRay Jrgeioi=a 9
() $. PretTs (3) et s=eUSil
In which of the Ti Plasmid is obtained from -
(A) Agrobacterium tumifaciens (B) Agrobacterium rhizogenes
(C) E.coli (D) Haemophilus influenzae
(xii) Fr=feRaa | w9fte &1 I[01 2— 7
(@) v (@) TR
() ferm srgurd (@) SUIH |

(xiii) which of the following is a property of the population -

(A) Birth rate (B) Death rate

(C) Sex ratio (D) All of above



(xii) MRS ¥ HeA fhd- T oI 2— %

SORCIN (@) 9
(@) a1 (=) dr
How many Hot Sport are there in India -
(A) Four (B) Three
(C) Two (D) Five
(xiv)Fr=ferRaa @ & S fURifrs wea e 8T 8 — Ya
CISIERNCIRENIES @) Shra dw=ar &1 iR
SIESIEIRE RIS (%) SUIH H H DIs A2l
Which of the following Pyramids is always upright -?
(A) Pyramid of biomass (B) Pyramid of living numbers
(C) Pyramid of energy (D) None of the above
(xv) IUCN BT T FAT & ATIR F=IeTRad | | DIFRA SIIfa faqqa 8 9ol 8 — Y4
(@) sret (@) Fam
(&) emgaR (3) S =
According to the IUCN Red List, which of the following species has become extinct -
(A) Dodo (B) quagga
(C) Thylacine (D) all of above
(xvi) VAT DI URWRSE fhar & fT9H U ST &1 9 81AT © d -0 SIid &l =
@ BIAT ©, 9 81 Bl 8— Y
(a7) eI (@) TRwErr
() HEIABTRAT (]) wReiifaar

What kind of interaction is there in which one species benefits and the other species neither benefits
nor suffers loss -

(A) Commensalism (B) Predation

(C) Mutualism (D) Parasitism



R <=t @ gftt afdre!

Fill in the blanks:-

() ——— TR faBRTeiiel TRATHON B 9I¥T g™ Hell 2 | Y
................ Layer Provides nourishment to the developing Pollen grains.
(i) T URYFa TR Jd & A7 B 9fhar Bl o HEd T | Y

The process of formation of a mature male gamete is called .................... .

(i) SARTAT ST FRA ATl BR.............. P ¢ | Vs

The factors causing mutation are called .................. .

(iv) U Uredl dsd H oo SAMRMIT §U & HEAT T | Y

The lightly stained areas in a typical Nucleous are called .......................... .

(v) ITpfad aROT o D &I HhIT & | Y

(vi) PTAREH H oo gfcRel &1 FgRar gl = | Y

Colostrums is rich in ---------------- antibodies .

(vii) VT & 9 UM WR ST & T . B UART foar ST g1 %
....................... is used for large scale Production of ethanol .

(viii) DTS TTT DNA TSI @I ... fafey g1 st fhar ST 2 | %)
DNA fragments are separated by ................. .

() FoRetY PIRTeT ireres *1 QU UTEd I Y ST e & | v
Capacity to generate a whole plant from any cell/explants is called ..................... .

(x) HETAT B oo 98 Wl g TGy SIIfadl 1 IRURLC ¢ . 2
In Meghalaya .........ccoueeeenen. are the last refuges for a large number of rare Plants .

fr=afaRad ool & SR Te Uk AT B Ufh 7 STy —
Give the answers of the following questions in a word or a line:-
() ORETUT fhd wEd § °? 1

What is Pollination ?



(i) FERTI ®1 [oRER Ragid e faar ? 1

Who gave the chromosomal theory of inheritance?

(i) R (F9UR) @ 87 1

What is cistron ?

(1v) 3rgoett fafexor @1 3IE T SareRer AR | 1
Give any one example of adaptive radiation.
(v) FEgfrer @1 qRarT foriey | 1
Write the definition of analogy.
(vi) TTISWISS SR &I gfte fhd odieror § &l Sl © °? 1
Which test is used to confirm typhoid fever ?
(vii) TRMA® THe AUG e SFIAT 3TFal &I difSd BT §° 1
which amino acid is coded by the initiator codon AUG ?
(viii) SB1 H DY AR™IS Siar] ferd & ? 1
Which beneficial bacteria are found in curd ?

Yls— ¢q

SECTION-B

TSN U3 (¥ss HHE — 50 eq) —

Short answer type questions (Answer word limit 50 words) :-

4. rAe@ @ 27 Uil 9 fhd UeR &1 Yoy gy Sfar § 2 (Vo+1)
What is triple fusion? How many types of endosperm are found in Plants ?

5. TIURTO] 47 87 Uil H 9 bl & forg BI=il fferdl sy | off it € 7 (Yatl)
What is self-pollination? What methods are used to Prevent this in Plants ?

6. Scddu T & ¢ I8 UfhaT gAN < H a1 gfcefad g ? (Vo+1)
What is amniocentesis? Why this process is banned in our country ?

7. HUSH & UUH RIA B YA 9 BT TANT B g AHSISY | (1Y)

Explain the first law of Mendal using- Punnett Square .



8. GeMgell faveryor @7 8 ? I8 fhd UeR |9 STIR § ?

What is pedigree analysis? How is it useful ?

9. ITIRddel & 31U RIT FHSI © ° S9dT SUAR Rl aeTHh & ?

What is Sewage ? Why is its treatment necessary ?

10. IR § BT T A 8 ? IR 939 &1 Adifed s 9918V |

Which gases are present in biogas? Make a labeled diagram of a biogas Plant-

ON ON O\

11. fr=faRad dogq &1 18 e &1 foRau |
(i) wfceers vommeH (i) YSgH drefeast (i) DNA TSI

Write any one function of the following enzyme: -

(i) Restriction enzyme (ii) enzyme Chitinase (iii) DNA Ligase

12. PCR T TRT T4 T 27 SADI IIT IUINT 57

What is the full name of PCR ? What is it used for ?

13, JTIAIRID HUAIIRT Sig @7 87 VA Ulgi & Dlg & o forfay |
What is genetically Modified organisms ? Write any two uses of such Plants.

14. BT AT T 22 I Mg Ay urd o) ol 27

What are cry Proteins ? Where do we get this Protein from ?
15 Siq fAfderdT & oy o1 FHeId =7 9! &fd & T BRI 57

What do you understand by biodiversity? What are the reasons for its damage ?
Yus—H
SECTION-C

ST U (SR g A1 — 100 1)

Long answer type questions [Answer word limit 100 words]

16. frfaRad & &1 faRay —

(1) dia fuve SEPICESED (@) e
Write the functions of following -

(A) Corpus luteum (B) Acrosome (C) Fimbriae

(172)

(172)

(Vot1)

(Yot Yot 1)

(Vot1)

(Vot1)

(172)

(172)

(1+1+1)



3127dT / OR
IS o Ped 87 ARIT BHIfOIT |

What is cogenesis? Explain.
17 G B BIg A (ILIwdTe B A=A HIFTY |
Explain any three characteristics of the Population .
37041 / OR
PreferRed w R @ |
(37) BEHTRYT (d) TRoiIfdeT
Comment on the following-
(A) Camouflage (B) Parasitism
18. f=ifaRaa o fewoh FHifsg |
(31) yHIeR (@) tRNA
Comment on the following-
(A) Promoter (B)tRN A
37041 / OR
f=ferRad & dra ofaR garsy |

(1+2)

(1+1+1)

(1v2+1Y%)

(1Y2+1Y%%)

(1+1+1)

(31) GTRIGRT DNA Td STSIT DNA () SHICIC Xouldh T4 BITST ool

(d) mMRNATdtRNA

Explain the difference between the following-

(A) Repetitive DNA and Satellite DNA  (B) Template strand and Coding Strand

(C)mRNAand &tRNA
grs— §
Section -D
fregTde Te (SR s WHl — 150 )
Essay type questions (Answer word limit- 150 words)
19 FrfeIRad H faR 9aTd gU Ud & IQTeR0T QI |
(31) w'st ud surfoia ufaRe (@) afspa vd Sy uforen

2+2) = 4



Explain the difference in the following and give examples of each .

(A) Innate and Acquired immunity (B) Active and Passive immunity

3{fdT / OR
HeRSRN T € ? R I & HRYl, e U STIR 9 | (1+H1+1+1)= 4
What is Metastasis? Explain the causes, diagnosis and treatment of cancer-
20. fe=forRad wR fewolt SIfoy | (2+2)

(37) gTer el Ud el STt CISRIESRCECEEE

Comment on the following-
(A) food chain and food web (B) Production and Decomposition
37041 / OR

giRRerfad! RIS @ 8 ? St YR Ud Sla 9 & fRIfAS & 99y | (14 +1%)

What is ecological Pyramid? Explain the Pyramid of biomass and Pyramid of living number .





